CALCULUS
Integration by substitution:
Problems
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670-1.a. Compute /cos(Sa: + 4) dx by
making the substitution v = 3x + 4.

b. Check your answer by differentiating.

0670-2.a. Compute /;r:[cos(3;r:2 + 4)] dx by

making the substitution v = 3z2 + 4.
b. Check your answer by differentiating.

NEW 3 5$

making the substitution v = z2,/5/3.
b. Check your answer by differentiating.

x dx
0670-3.a.Compute /\/

2




0670-4.Evaluate [ 2™ " da.
0670-5.Evaluate /3356_336/\/5 dx.
0670-6.Evaluate [ a®(~22° - 7)%° da.

0670-7.Evaluate / z — 2][cos(z? — 4z + €)] da.

[csc(Inz)][cot(Inz)] 1

X

0670-8.Evaluate /

NEW

0670-9.Evaluate /(CSCS a:‘) (cotz) dz.
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670-10. Evaluate f3 B4+ VT g
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/4
(ecsc x) (cscx)(cotz) dx.
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670-11. Evaluate /
W /6

/6
@70—12. Evaluate /

a (eCSC "7) (cscz)(cotz) dx.

NE

8 e % d
x.
/27 22

e> sec?(Inz)
dx.

0670-13. Evaluate
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@70—14. Evaluate /

e xr
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Q670-15. Evaluate f. a%4" T V7
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X.

/4

0670-16. Evaluate ][ (ecsc x) (cscz)(cotz) dx.

/6

/3
0670-17. Evaluate ][/4 [(cot ) — =] [sec? z] du.
7T

27 e_%

dzx.
8 /g2

e> sec?(Inz)
dx.

0670-18. Evaluate
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@70—19. Evaluate ][

e xr




